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Code No
wieqreff IR JE@-8
Roll No. T g ford |
Candidates must write the Code on the
title page of the answer-book.

o HUAT A R o foh 39 TA-9F | lgd Y8 8 & qAT 2 I8 HHMAI o @ |

o TWH-UA H TiE T H AR T T HIE TR hl BH IW-YEIHR & E-I8 |
g |

o FYA IE WA 0 I H 26 T F |

o HUAT TTH 1 IW {TEHT & KL ¥ UgeA, T T THuTeh 99 ford |

o 39 WU Wl UG o [T 15 e o1 wm fen mn 8 | weA-uA 1 faawn gahE
T 10.15 51 fopaT IT@W | 10.15 S ¥ 10.30 1 b B hadd IH-UF bl Teil
3T 39 7@l o GRF o ITR-Yfedept W hig I T8l fore |

e Please check that this question paper contains 8 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (JgT=is)

GEOGRAPHY (Theory)

giRa a7 - 3 o2 STfeHaTH 3% : 70

Time allowed : 3 hours Maximum Marks : 70
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(i)  I¥I P T TEIT26 8 |

(i) @t e et & |

(iii) 9% J99 & 3b 3HF GHT 3iHd & |

(iv) ¥97 &1 1-10 % 3T Tg-IR qct J97 8 | J8% 37 F11 3% & | 577 @
I J97 &7 I 20 J55] & 37ferw &7 787 g7 15T |

(v) ¥ GEIT11-20 7% TY-IR qI7 J97 8 | F4H Jo7 5 3 36 3 | 599 & T
9T Gog-STERT 8 | $98 @ JAF F97 H IR 80 5G] & 371 FHT T8 FT
78T /

(vi) I97 GEIT21 - 25 T%F FH-FH GIci Jo7 & | Y% J97 & 5 3F 5 | 570 @
9% J97 7T IR 150 Js5] @ 3718 o7 737 51471 =1ieT |

(vii) Y97 GEIT 26 FHEEA T 15T TT 4i7ifcie Femn &1 ggeE 3N T aar oa
THIHT I & G & [

(viii) TAR 3K YR & 170 77 IGT-FrfaF] 1 377+ FTR-Ji&asl & @ia 8 7a97
T BT |

(ix) IGI-HElE 917 % 17T @i a1 et & 39T #1 sgatad 3 widt 8

General Instructions :

(1) There are 26 questions in all.
(it)  All questions are compulsory.
(iii)  Marks for each question are indicated against it.

(iv)  Questions No. 1 — 10 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v)  Questions No. 11 — 20 are short-answer questions carrying 3 marks each.
Out of which one question is a value based question. Answer to each of
these questions should not exceed 80 words.

(vi)  Questions No. 21 - 25 are long-answer questions carrying 5 marks each.
Answers to each of these questions should not exceed 150 words.

(vii) Question No. 26 is related to identification or locating and labelling of
geographical features on maps.

(viit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(ix)  Use of templates or stencils for drawing outline maps is allowed.
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LYSETT. L o ... ‘population distribution’.

2. SHEEN fUufre F1 Yt ST g ? 1
What does a population pyramid show ?

3. Ueg H ‘TeAraren Aar i A fhd YhR o fharhardt § wnfier i 2 1
In which type of activities would you include ‘Dabbawala Service’ in
Mumbai ?

4. 5 @ =i Tshamerami &1 3g@ hifse, fos s/ § snie fean S

1.1 _
3 | 375° 1

Mention any two business activities which are included in outsourcing.

5. Yd % o TS O ST 1 99cd (2001) a8 3T 7 2 1
Which State of India has the highest density of population (2001) ?

6.  YIRA % TohE TST 1 94 foohrd aehieh § I=aH Yoo Tcifgd foham g 2 1

Which State of India has recorded the highest value in the human
development index ?

7.  9Rd T §9 2001 H TR T TR FAT AT ? 1
What was the level of urbanisation in India in 2001 ?
8. YA § WS o Tcd % g Y@ (e HHA B ? 1

What are the two main determinants of density of roads in India ?
9. wur < fafim faunsti =1 Afvmi # fawfoa &0 & & smar s E 2 é+é=1

What are the two bases of categorizing the different modes of
communication ?

10. 3G FeM % U Y § Wy fohal a YGUUT IcUTGH el % AW SISy,
5@ 5@ wgfea & 7 | 1

Mention any two pollution generating components, used to increase the
production in agriculture, that pollute water.

11.  “TPld 3R 7T 304 JAed ¥ ¥ ATE § IS 5T & [ 8H ITehl T 78] L
Tehd |7 IS IF ISTE0T ¢t 59 A <l gfE i | 3x1=3

“Nature and humans are so intricately intertwined, we cannot separate
them.” Support this statement by giving any three examples.

12. T TG H R Q1 TG 9eii o AW SaTsT | 3k YGWT i TR I UM
HIfe | 1+2=3

Name any two polluted stretches of river Ganga. Describe their nature of
pollution.
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Explain the role of Europeans in the development of plantation

agriculture in tropical countries.

14. HOR % Tt e & oo § 9idia yarfEt K gerreres ekt 1 =men

i |

Explain the positive role of Indian migrants in the development of

various countries of the world.
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e Fife i frefifad get & 39 &

———T

T T T LS |
&E 2 % L L2

.

; Y i
“ , N
h! ),

{ &

gifereaq L
~

- L
n L.s‘ t/
N

. 4 ‘;
. ; ~

- 16

HEFTRIE 98, 2001

!,Ir' a'z“ 96°F

A -
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(15.2) ITR-YET 9Ra & feredi a1 Tt o am fofan, fd g mgem 7€ 2 |

(15.3) B TR 36 6t giedmr S |
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(15.1)
(15.2)

(15.3)

Define the term ‘mega city’.

%lgls?% to 12

Identify and name the metropolitan cities marked as (@) and (B).

Name any two States of North-East India, which do not have a
metropolitan city.

Fie:  [HEleiiagad g97 e gIREaTad wheieEl & 077, J97 &I 15 @ T W&

Note :

only, in lieu of Q. No. 15 :
T TR veg 1 g G | afieHTg 3R S % Ush-Ush HER T A

Ay |

The following question is for the Visually Impaired Candidates

1+2=3

Define the term ‘mega city’. Name one metropolitan city each of Tamil

Nadu and Kerala.
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“Land use in a region, to a large extent, is influenced by the nature of
economic activities carried out in that region.” Explain the statement by
giving any three examples from India.

17. 9@ H GGUAN A WU R AHAE B ? fohdl i ROl Rl ST

Why is efficient use and conservation of water essential ? Explain any

three reasons.

18. 3rulfcaes @Wiis ki foredl o9 fawarst =1 guiq hifse | 3x1=3

Describe any three characteristics of non-metallic minerals.

19. “g@En 9wl &7 foe wrEishn i fheal diF faemdreti i same Hive | 3x1=3

Explain any three characteristics of “Drought Prone Area Programme”.

20. 39S Al hi SATEAT T S et 31 % AT ol TR Sfad ¢ % fag
ITEIH B B | 3x1=3

Explain the human values that are needed to give a meaningful life to
the people of a country.

21. fafmior &1 w=n a1 g 2 w9r 9 oyl faftmivn o gea wehguli 1 aviF
HIT | 1+4=5

What is meant by manufacturing ? Describe the major concentrations of
modern manufacturing in the world.

22. TUR ¥ T YiEgd 6l forgl ui= fammarst s Tz Hifsu | 5x1=5

Explain any five characteristics of land transport in the world.

23. WW UM TRy had & ? ITeh! fohal T fomisanati <1 9ui shifvw | 1+4=5

What is the ‘Silk Route’ ? Describe its any four characteristics.

24, SATMH{GH ARG & YR R Ffieha A0 Sfeqai o foheal 9i= JhR I dvH
SHifST | 5x1=5

Describe any five rural settlement types classified on the basis of their
geometrical forms and shapes.
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5x1=5

“The pattern of the composition of India’s import has been changing over
the years.” Support this statement with any five suitable arguments.
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26. (26.1) HER & feu U yoHfaew WE-AFRS §, I” @99 A, B, C @@ D fe@mg
TR 4%:2
A. AHa fowE g@ehih, 2003 H 0 sWfER 1 I=AW oI
TR aTal oI
B. YR-HEESNEA AT T fdq T3
C. U9 I Th YqE TG o=
D. U u &

T AU ] TEETAT 3T Ycdeh AU o HTHA Tl 75 W1 W IHR
e A fafgu |

(26.2) WRa & feu MU uSHifae WeraEta § fefafaa & fafa swgw
foi @ fommge 3t 3% am fafe . 3x1=3
(i) ToF AT TTerdr g€ el T
(i) 3 (enfeen) # @ die-3r s H th @
(iii) pHiceh | TOa dcT IMYT HREHT (TTEHLOTITEAT)

(26.1) In the given political outline map of the World, four features A,
B, C and D have been shown :

A. The country having the highest rank in Human
Development Index in 2003 in South America

B. The Terminal Station of Trans-Siberian Railway
C. A major sea-port of Europe
D. A mega city

Identify these features and write their correct names on the
lines marked near each feature.
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tollowing with appropriate symbols :
(i)  The state having the highest literacy rate

(11) An iron-ore mine in Orissa (Odisha)

(iii) The oil refinery located in Karnataka

g :  HEliad Jv7 Fac IR whndal & 079, 97 6T 26 F T T/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 :

(26.1) WHa fashm@ gashish, 2003 H <fE0r MR § ITAH Yod IR
231 T A9 &qT3U |

(26.2) UR-HTSHTEA IR & &l Af~H TIE 1 AW FqT3T |

(26.3) TH T Y@ A ITH HIF-AT B ?

(26.4) YA % I=qH TI&HAT L ATl T ol 19 15T |

(26.5) e H I INYT HIEHT (TSHIUIAT) hal [Ed B 2 5x1=5

(26.1) Name the country having the highest rank in Human
Development Index in 2003 in South America.

(26.2) Name the eastern terminal station of Trans-Siberian Railway.
(26.3) Which is the major sea-port of Germany ?
(26.4) Name the state of India having the highest literacy rate.

(26.5)  Where is the oil refinery of Karnataka located ?
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YA &1 {@1-AHtas (Treifaes)

Outline Map of India (Political)
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